
. 1 .



. 2 .. 2 .



. 3 .. 3 .



EN DE

TecTake GmbH 
Tauberweg 41, D-97999 lgersheim, Germany 

 

. 4 .

Parts List/Stückliste
1 2 3 4 5 6

7 8 9 10 11 12

13 14 15 16 17 18

19 20 21 22 23 24

25 26 27 28 29 30

31 32 33 34 35 36

1pc 1pc

1pc 1pc 1pc2pcs 2pcs 2pcs

1pc 1pc 1pc 1pc

1pc

4pcs

4pcs 2pcs

2pcs

2pcs 2pcs1pc

1pc 1pc 1pc 1pc 1pc

1pc

2pcs 2pcs

1pc 1pc 1pc 1pc 1pc

1pc 1pc 1pc



Step:1

Step:2

1 2

3

4

A7

A7/B2/D

A7/B2/D

D B2

M6X12 M5*30 M4X8 M8 M6

M5 M8 M6 M5 M4

M5X10

M6*45M6*70 M6X15M6*20M6X35 M6X25

Assembly/Aufbau

A1 A2 A3 A4 A5 A6

A7 A8 A9 A10 B1 B2

B3 C1 C2 C3 C4 D

E

2pcs 4pcs 4pcs 4pcs 4pcs 6pcs

25pcs 1pc 4pcs4pcs 2pcs 37pcs

38pcs

4pcs 2pcs 9pcs 4pcs

A7:4pcs
B2:4pcs
D  :4pcs

A7:4pcs
B2:4pcs
D  :4pcs

4pcs 3pcs

A7 D B2

. 5 .



A7/B2/D

A7/B2/D

A7/B2/D

A7/B2/D

01
02

01

02

03 1

2 3

Step:3 Step:4

Step:5 Step:6

Step:7

Step:8

5

6

9

8

7

10
11

12

13

14

E

B1
C1

A7:8pcs
B2:8pcs
D  :8pcs

A7:4pcs
B2:4pcs
D  :4pcs

B1:2pcs
C1:2pcs

A7 D B2

A7 D B2 C1 B1

A7:4pcs
B2:4pcs
D  :4pcs

A7:1pc
B2:1pc
D  :1pc

E  :1pc A7 D B2 E

A7 D B2

. 6 .



A9/B3/C3

A2/B2/D

Step:9

Step:11

Step:10

Step:12

Step:13 Step:14

Step:15 Step:16

15

16

17

18

19

20

21

22

23

24

25

26

A8

A10
C4

C2
B2

A1

A6

A6

35

B2:1pc
C2:1pc

A9:2pcs
B3:2pcs
C3:2pcs

A1:2pcs

A6:2pcs A6:2pcs

A2:4pcs
B2:4pcs
D  :4pcs

C4  :4pcs
A10:4pcs

A2 D B2

A9 B3 C3

. 7 .



Step:17 Step:18

Step:19 Step:20

Step:21 Step:22

Step:23 Step:24

19

27

31

32
25

33 34

A9

B3
C3

A3/D/B2/C2

A5

A6

36

A9:2pcs
B3:2pcs
C3:2pcs

B2:4pcs
A3:4pcs

D  :4pcs
C2:4pcs

A5:2pcs

A6:2pcs

A3 B2 C2D

30

30:2pcs
E  :2pcs

E

28

29

A5

A4/D/B2/C2
B2:4pcs
A5:2pcs
A4:4pcs

C2:4pcs
D  :4pcs

A4 B2 C2D

. 8 .


